
U6 Exponential and Logarithmic Functions Assessment


Knowledge [Complete all problems in this section]

Evaluate
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9. Determine an equation for the graph shown.
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Application [Complete 4 problems from this section]

	10. Consider the function 
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 on the same axes. State for both functions the domain, range and x and y intercepts if they exist. 


	11. Solve 
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	12. A logarithmic function has had the following transformations: 

· A shift left

· A vertical shift

· A horizontal compression

· A horizontal reflection

What could the equation be? Sketch your graph. 
	13. The atmospheric pressure, P, on a balloon or plane decreases with increasing height. This pressure, measured in millimeters of mercury, is related to the distance in kilometers, h, above sea level by the formula 
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a) Determine the average rate of change from sea level to 500m. 

b) Estimate the instantaneous rate of change after 1km. 

	14. On a busy construction site at 1:00 p.m. the sound level is 124 dB, while at 4:00 p.m. it is 100 dB. How many times as intense as the sound of the construction site at 4:00 p.m. is the sound at 1:00 p.m.?
	15. If the graph of 
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 what is the new domain of the graph?


Inquiry [Complete any two problems]

	16. The number of watts, w, provided by a space satellite’s power supply after d days is given by the formula 
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a) how much power will be available after 5 years?

b) What is the value of the satellite’s instantaneous watts at 5 years?


	17. Given the exponential function 
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a) for what values of a do the graphs of f(x) and 
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	18. Suppose that the Tidbinbilla Deep Space Tracking Station in Australia received a signal, S, as a function of time that is given by 
[image: image19.wmf]  

S

=

2

5

log(cos

x

)

-

3

. 

a) What are the domain and range of this function?

b) Use Technology. Graph this function. 
	19. If 
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	20. Show that 
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Communication [Complete 2 problems from this section]

	21. Compare the graphs of 
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	22. Explain why 
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	23.
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A student used a graphing calculator to illustrate identities. The student
assumed that log () =2 log x because log, (M") =1 log, M. The student
graphed y =log(x?) and obtained the graph shown below on the left. The
student then graphed =2 log x and obtained the graph shown below on
the right.
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Explain why these graphs are not identical.
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